K0630_B
EalAS! B AS T8, of

14

=2
= —
=3
==

© HEINRICH KIPP WERK GmbH & Co. KG

2 AE|OIH|A OIHIA ga x

—_— e ——

HY/MIE o[0IX]|

ZE &= il 712E HEI = £E

oY

THE:

AR T

LIAL &E2[E U &3 El, }HarZ,

AHQIE|A AR HT:

LIAF £2[E 1.4305.

&= El 438l 1.4034.

23 E, F3HEIX| 2 1.4305.

MY O, G7tad X

EM OlF2]:

AR T

LIAF &2, A &5t %2l

23 E, Fst #al, dok X AY &S xE2

/\E-||O|E|A AE] H-I

ra

HAIS a2, Z43|A4 RAL7021.

HH:

QA ZHX = 5H gof o8t &2 Ixl2]
HZEE L x|sHoF 3t o AR E.

HAH EEE £SZ E S CIEHZE
QAXIZ O|SE £+ AUS

Al

S A HE.

www.kipp.com - info@kipp.com 1/2



°
31 | —
—El*E' HA" g, o *El &= 51 712E HEI = 2E
ﬂ
£2 AH|QIYIA Q1A ERIX
=
|
Swi
3
- i L ! | Sz E 1
Ol &
~d
|
[T
| @ !
D=05;
D1
ZS 29
FEWHS EQ L8 M Ex A= =2 E D D1 D2 L L1L2L3 AE=Z3 SW1SW2 Fx30° A[F ERS
S EbA E2
F1 2 N F2 2. N
K0630.22903 B Z 3|4 RAL 7021 AE] 23 3 M6x0,75 14 33 12510 5 8 10 0,8 45 12
K0630.22004 B Z3|A RAL 7021 AE Zs 4 M8x1 18405156 13 6 10 13 1 6 15
K0630.22105 B 73| RAL 7021 AE 28t 5 M10x1 2146517715 8 13 17 13 5 16
K0630.22206 B 73| RAL 7021 AE] Z3 6 M12x1,5 25547208 17 9 14 19 18 6 18
K0630.22308 B ZH3|4 RAL 7021 AE A3 8 M16x1,5 33 72 261023 12 19 24 23 15 45
K0630.22410 B Z3|4 RAL 7021 AE 238 10 M20x1,5 33 79 281225 15 22 30 28 15 43
K0630.22412 B 73| RAL 7021 AE] Z3t 12 M20x1,5 33 84 281425 18 22 30 28 15 51
K0630.22516 B Z3|A4 RAL 7021 AE A3 16 M24x2 40 104 321828 24 27 36 32 20 50
K0630.202903 B ZEM RAL7021 AHQIEA AR ZS 3 M6x0,75 14 33 12510 5 8 10 0,8 45 12
K0630.202004 B ZEAM RAL7021 AHQIHA AR 73 4 M8x1 18405156 13 6 10 13 1 6 15
K0630.202105 B A= RAL7021 AH QDA AR ZHs 5 M10x1 2146517715 8 13 17 1.3 5 16
K0630.202206 B Z=EM RAL7021 AHQIEIA AR ZS 6 M12x1,5 25547208 17 9 14 19 1.8 6 18
K0630.202308 B ZE/AM RAL7021 AHQIEA AE ZHE 8 M16x1,5 33 72 261023 12 19 24 23 15 45
K0630.202410 B Z3M RAL7021 AHQIEIA AR ZSH 10 M20x1,5 33 79 281225 15 22 30 28 15 43
K0630.202412 B ZEM RAL7021 AHQIEIA AR Z3F 12 M20x1,5 33 84 281425 18 22 30 28 15 51
K0630.202516 B 3|4 RAL7021 AHIQIEIA AE Z5F 16 M24x2 40 104 321828 24 27 36 32 20 50
K0630.212903 B A3 RAL7021 AH QoA AR H[ZES 3 M6x0,75 14 33 12510 5 8 10 08 45 12
K0630.212004 B ZEM RAL7021 AHQIEIA AE H|ZES 4 M8x1 18405156 13 6 10 13 1 6 15
K0630.212105 B ZS|A RAL7021 AHE|Ql2|A AR H|ZS 5 M10x1 2146517 715 8 13 17 1,3 5 16
K0630.212206 B A= RAL7021 AHQlEA AR H[ZES 6 M12x1,5 2554,720 8 17 9 14 19 18 6 18
K0630.212308 B ZEA RAL7021 AHQIEA AE H|ZS 8 M16x1,5 33 72 261023 12 19 24 23 15 45
K0630.212410 B 3|4 RAL 7021 AH|IQIEA AEl H|ZAS 10 M20x1,5 33 79 281225 15 22 30 28 15 43
K0630.212412 B A3 RAL7021 AH QDA AR H[ZES 12 M20x1,5 33 84 281425 18 22 30 28 15 51
K0630.212516 B Z=EM RAL7021 AHQIEA AR H|ZASt 16 M24x2 40 104 321828 24 27 36 32 20 50

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com

2/2



